—-sin"?* xcosx -1
n n

Isin”xdx: J’sin"’2 xdx

Proof
I sin” xdx :J' (sin"™ x)(sin x)dx

let u=sin""x V = —COSX
du=(n-1)sin"?xcosx dv=sinxdx

DI sin”xdx:sin”‘lxcosx—(n—l)f sin"? xcos® xdx

Since cos®x=1-sin’x

J’sin”xdx:sin”‘lxcosx—(n—l)f sin"? xcos® xdx
:sin”‘lxcosx—(n—l)f {sin”‘2 x(l—sinzx)}dx
:sin”‘lxcosx—(n—l)fsin”‘2 xdx+(n—1)Isin“xdx

DIsin”xdx=sin”‘lxcosx—(n—1)J' sin"? xdx+(n—1)I sin" xdx

- J'sin” xdx—(n—l)J' sin" xdx:sin”‘lxcosx—(n—l)f sin"? xdx

- —nf sin”xdx:sin”‘lxcosx—(n—l)J' sin"™? xdx

. —-sin™ xcosx n-1
- Ism”xdx: Ism” 2

Q.E.D.



